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Roll NoO. { ccccieeenne soesens seee
2016 |
APPLIED CHEMISTRY
Fratfer v ; Vader | [STfRrma 3 : 30
Time allowed : %2 Hour] [Maximum Marks : 30

. (i) i afad § e sEE Tl SE e |
Note : All Questions are compulsory and each question is of 1 mark.
(ii) A arwer 7 s 817w Rafr F sinstt srgar gt wra & 1
Only English version is valid in case of difference in both the languages. _

1. U Ton ¥ B ¥ W & T
- W Em

(@) 3d,4p,4s,4d
(b) 4s,3d,4p, 5s
(c) 3d,4s,4p,4d
(d) 4s,4p,3d,4d

2, S W % o | o e we €

@
(b) 0®2
© -1,+1
@ -1,0,+1

1. In an atom the order of filling of
electron in orbitals will be

(a) 3d,4p,4s,4d
®) 4s,3d,4p,5s |
(¢) 3d,4s,4p, 4d
@ 4s, 4p, 3d, 4d

2. The possible values of ! for an S-orbit
(@) Zero
(b) 0to2
) -1,+1
@ -1,0,+1

P.T.O.
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3.

o el o @ few w7 o ead Wi
v Pt i ¥ o

(a) UREN
(b) AT
(c) WHA

(d) g

CH,COONa %1 &t fera g
() st

(b) &

(c) SRR .
) :ﬂﬁmﬁﬁaﬁéjﬁ

CH, Frsamagad:
(a) A
(b) TR

(©) TS

@) T

e wE F el sivawe w o ug §
Pt & Ry SRRt fear ST

() wEA |

(b €O

(c) CO,

(d) ¥R =0T

)

2004

From the following elements, which

element, has no definite place in
periodic table ?

(a) Astatine

(b) Chlorine

(c) Xenon

(d) Hydrogen

An aqueous solution of CH;COONa
will be

(@) Acidic

(b) Alkaline

- (© Neutral

(d) None of the above

C,H,, is general formula of
(a) Alkane

-(b) Alkene

(c) Alkynes
(d) Alkadienes

In blast furnace, iron oxide is reduced
to iron by

(@) Carbon
) Co
(© Coz .

(d) Limestone
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7.

10.

e Pl @ g =) o e
13

@ s

) €O,
() ST wa
@ SO,wd

e % Tarte O ¥
(a) Na,ALSi,0q- xH,0
(b) Na,[Na,(PO;)l
(¢) - NayALSi,0,,
(d) Na,ALSi,0q

s & 120 fr/eler MgSO, gem kAt
FAT ppmAE

(@ 120 ppm

(b) 100 ppm

(c) 60ppm

@ 240ppm

[ S

(a) Ca(HCO,),
(b) Mg(HCO,),
(¢) CaCl,
(d) NaCl

&)

10.

by
(a)
®)
(©)
(d)

2004

Earth is protected from UV radiations

Ozone layer
CO, layer
Oxygen layer
SO, layer -

Chemical formula of Permutit is

@
(b)
()
(d

Na2AIZSi208 +xH,0
Naz[Na4(P03)5]
Na,Al Si 40 12

Na,AlSi,0q

120 mg/litre MgSO, is dissolved in
water. Then its hardness in ppm is

(a)

- ®

(©)
(Y]

120 ppm
100 ppm
60 ppm

240 ppm

Permanent hardness inh water is
caused by

(a)
®)
©

(d)

Ca(HCO,),
Mg(HCO,),
CaCl,
NaCl

P.T.O.
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11.

12

13.

14,

e wF PR @ fewr W SR W
e e & 2

@ W

) fme

() fagfra

(d) TR we

Frer o 9 o e e i 2
(a) e

(b) e

© TR

(@ vk

e o e @ e -
(a) e
b) W
(© =
(@) Aweeia

&t T S R ART ¥ e
t

(a) HiEwTEE T
b) T W
(c) WfrEm v
(d) IR it

@

11.

12.

13.

14.

2004

Which variety of coal has maximum
calorific valie ?

(a) Peat
(b) Lignite
(¢) Bituminous

(d). Anthracite coal

Which is not a natural fuel ?
(@) Coal
(b) Petroleum

(¢). Charcoal

- (d) Natural gas

Cetane number refers to
(a) Diesel

(b) Petrol

(c) Kerosene

(d) Naphthalene

The film which protects the metal
from corrosion is

(a) Oxide film
(b) Sulphate film
© Selénium film
(d All of these
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15. W @S § | | 15. Natural Rubber is
(a) TS | (a) Polyisoprene
(b) diARFEE TS | " () Polyvinyichloride
(c) uiivreidniv ' (c) Polychloroprene
d) T | (@ Polyfluoroethylene
16. P fr wrqgew v 16. Neoprene is a polymer of
(@) P wNES (a) Vinyl chloride
(b) TR , (b) Chloroprene
© W (c) Butadiene
@ ‘m (d Propene
17. afn.s-ﬁsﬁﬁﬁqﬁ& 17. TheS-inbuna-Sreferstd"
(2) W (8) Sulpher
(b) e () Sodium
© wEw (c) Styrene
@) e (d) Strontium
A S G- 18. Acid value of a good lubricant should
| be
@ F= | (@) least
(b) wEH | (b) moderate
@ = . | () high
@ wHIET - : | (d) none of these
P.T.O.
! A
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19,

20.

21,

22,

fore =nfrer foreram &
(2) O+ 1%
®b) T+&EF
(¢ I+ frergs
@) o+ e

SR ¥ W O A T o
=

(a) afiT iy

(b) e

(c) Eimme

@ e

T I&T A9 W wwe
(a) WwIEE
(b)  EimES

(c) faferr

(d)y Hifemr

it & B } SETE F BT IR
(a) 3Ca0-ALO,

® SCaO - 8i0,

© 2c:0-si0,

d) CaSO,-2H,0

©®

19.

20.

21.

22.

@

(a)

Spirit varnish is a solution of

(a) Oil + Pigment

(b) Resin + Pigment \

(c) Resin + Solvent
(d) Pigment + Drier

Refractory material obtained from
bauxite is

(a)
(b)
(c)

Fire clay
Chromite
Dolomite

Alumina

Neutral refractories is
(@) Graphite

(b)
(©) Silica
()

Dolomiite
Magnesia

Which constitute of cement causes its
initial setting ?

3Ca0 - ALQ,

(b) 3Ca0O-SiO,
(¢) 2Ca0-SiO,

(d CaSO,-2H,0
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23.

FRTEY

() [IE

25.

26.

(b) TR HE

A

(c) S e

(d) e W

A T ATCET §
() HROSH
b TR

© ¥

(d) TEwRT

() 3T

(b) &

(€ T

(d) ST H /S @ |

siffterer FrEeR frey aREeAr W aaiE

M

23.

25..

26.

Crooks glass is -
(a) Soft glass
(b) Hard glass
(©) Iena glass

(d) Optical glass

Allotrope of carbon is
‘(a) Corundum

®)
(¢c) Diamond

@

Emery

Garnet

Aqueous solution of détergent is
(a) Acidic

(b) Basic

(¢) Neutral

(d) None of the above

Optical fibre is based on which of
following phenomenon ?

(a) Total Internal Reflection

(b) Refraction

(¢©) Reflection

(d) Diffraction
P.T.O.
A
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27. - e ¥
(@ —tCH=CH);

® 7

[
©

(d) SwiE gt

28, stfereer @ QT g &
(a) ¥ foreg sty
(b) ¥ i R
(c) ¥ forege wwerper
(d) ¥ it =TT

29, wwidwd
(a) wHifeeta
(b) ¥
) =
@) e

30. Pt & & 9 ot =t A & g g
T HROT TE 2
@ §
(b) TR IR wiE
(c) Tl
(dy - ST 6

®

27. Carbo-electronic material is
(@ —tCH=CHJ);

7\
o/ In

NH' n

(d) All of these

(b

28. Which is the
superconductor ?

property of a

(a) Zero electrical resistance
(b) Zero thermal resistance

(c) Zero electrical éonductivity
(d) Zero thermal conductivity

29. Marsh gas is
(a) Acetylene
(b) Ethelene
(c) Ethane
(d) Methane

30. Which one of the following is a
source of energy but does not cause
of pollution ?

(a) Sun

(b) Nuclear power plant
(c) Gasoline.

(d) Fossil fuel
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2016
APPLIED CHEMISTRY
PART-1T

fraifa ang  fiwd) - [sftresa 3w : 70
Time allowed : Three Hours] [Maximum Marks : 70

qe . (i) I we st g vy & @ Ree ol & o7 R 1 _
Note : Question No. 1 is compulsory, answer any Jive questions from the remaining.
(i) Fee T & T R AR O T T HH |
Solve all parts of a question consecutively together.
(iii) N T B 7 g AR W |
Start each question on a fresh page.
(v) ﬁ#wmﬁ#wﬂ##ﬁzﬁr#mmﬁmé /

Only English version is valid in case of difference in both the languages.

1. () RHEHEE9 T 29 aﬁwﬁmgﬁaﬁﬁwmm |
Whrite the electronic configuration of elements having atomic number 9 and 29
(i) pH @ aftafrr AR 10.0001 N NaOH freras f pH 1 FHC |
Define pH. Find the pH value of 0.0001 N NaOH solution.
(i) @mammmﬁmwmﬁm |
Define aromatic and alicyclic o-ganic compounds with examples of each.
(iv) Pt e Sl =t 3 o 3 T gy e ¥ s B
Nat, F-, 0%, Mg?, AP+ |
Arrange the following isoelectronic series in order of increasing size :
Na*, B, 0%, Mg?*, AP+ |
(v) s e @ i fofae | |
Write definition of octane number. ' (2x5)
®) | P.T.O.
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- (@)

(i)

- ()

@)

(ii)

(iii)

@

G

(i)

@)

(ii)

(10) v | 2004 :
iR HeA B sRfee BRIT | e w i ade @ R o 3R |

Define quantum number. Briefly describe the physical significance of each of
them.

T T S g w frw T b o S seweer Wit wweme |
State and explain ‘Hund’s rule of maximum multiplicity’ with suitable example.
e steorem = it R | Rareger e & 9 @ S R

Write definition of electro negativity, Write any two uses of electro negativity. (4x3)

ST SR e | At 3 wefrentor @ Rl v Ry st ot sl |

Explain Joule-Thomson Effect, Describe any one method of liquefaction of
gases. -

I it faera Wt oRwifre WIRTT | et v wRR e &) s SRt
QHARY | . A

Define buffer solution. Explain the buffer action of an acid-buffer solution.

Na (Z = 11) T Mg (Z = 12) & @ e felle smem 3 =0 98 ot av 9
FHERT 4 | : ‘

Out of Na (Z=11) and Mg (Z=12), which has higher second ionisation energy
and explain why. ‘ ' 4x3)

AR & 0T WS A Refrsit ferflag |

Write any two methods of congentration of ores.

R T o e & 2 9 wataor s 4 e wear & 0

What is green house effect ? How does it affect environment ?

ot B o 9 e ot ) R A e ot o et e i |

Compare galvanizing and tinning for protection of iron from corrosion. (4x3)

TR I ¥ I &t In-fafrer Rafr s arok i
Describe ion-exchange method for softening of hard water.
Wl & O R § et oer safe

MgSO, = 60 mg/L, Mg(HCO,), = 73 mg/L, CaSO, = 68 mg/L
Tt e st e, Revht aet & ppm F e W | |
[MgSO, = 120 ; Mg(HCO,), = 146 ; CaSQ, = 136]

A given sample of water contains foHowing salts :

MgSO, = 60 mg/L, Mg(HCO,), = 73 mg/L, CaSO, = 68 mg/L

Calculate the degree of hardness in °French, °Clarke apd ppm.
[MgSO, = 120 ; Mg(HCO,), = 146 ; CaSQ, = 136] | (6x2)

»
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@

- (i),

(iii)

@

(i)

(iii)

@

an 2004
e i aTeE e TR B TR |
Explain the setting and hardening of cement.
i feraven ) SR SRIEOT S THRIET |
Explain nuclear fission with suitable example.

g ¥ 1% TR F C = 84%, H = 5.5%, O = 84%, s_15%amN=06%
Fufer 8, ﬁmmmmﬁwmﬁmaﬁm |

A given sample of coal contains C = 84%, H = 5.5%, O = 84%, S = 1.5% and

N = 0.6%. Find its higher and lower calorific values. @3)

Az e ¥ frfor 9t fafly, o7 oot st fafe |

Write method of preparation, properties and uses of Bakelite plastic.
S B R BT | T e e % st o fafae |
Define lubricant. Wrtie the characteristics of a good lubricant.

;ﬂ&ﬁaﬁmm lf&iﬁ@mﬁﬁmﬂﬂ?aﬁﬁqﬁﬁﬁl@mﬁ
|

Define Abrasives. Write the method of manufacturing of any one synthetic
abrasive and give their uses: @®3)

et ol o Rt ffare
Write short notes on any three of the following :
(a) W & |

(b) W T A
Soap and Detergent
(€ w=ti
 BioGas
@) =

Butyl Rubber
: P.T.O.
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(12)
(i) =1 TUPAC T fefte

Write IUPAC names of the following :
(a) CH3——CECH‘

CH,
() CH;- (l: - OH

o
(©) CH,- C-H

o)

(3x3, 1x3)



